Name: Date:

Teacher: Class:

Addition 508

I Why did the boy eat his homework? Because the teacher
said it was a piece of cake.

Add these numbers to find the total.

640 2 825 3 656 4 271 > 213 °% 669
+ 988 + 907 + 241 + 508 + 691 + 896

915 & 365 9% 18 1 905 1 400 12 973
+ 116 + 657 + 782 + 147 + 799 + 884

3. 928 14 451 1. gp3 ¥ 352 17. 9252 18 00O
+ 772 + 383 + 218 + 951 + 569 + 228

19. 813 2. 46 2 275 2 201 B 169 2* 636
+188  +271  +245  +224  +579  + 302

5 111 . 877 2% 105 2 336 2 781 3 931
+ 762 +238  +529  +748  +795  + 319

. 136 % 627 ¥ 221 ¥ 598 B 121 3B/ 742
+935  +332  +163  +423  +732  + 917

. 617 % 117 2 319 4 588
+362  +995  + 356  + 454
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Answer Key Date:

Teacher: Class:

Addition 508

Why did the boy eat his homework? Because the teacher
said it was a piece of cake.

Add these numbers to find the total.

640 2 825 3 656 4 271 > 213 °% 669
+ 988 + 907 + 241 + 508 + 691 + 896

1,628 1,732 897 /79 904 1,565

915 & 365 9% 18 1 905 1 400 12 973
+ 116 + 657 + 782 + 147 + 799 + 884

1,031 1,022 967 1,052 1,199 1,857

13928 14 451 1> 803 16 352 1 252 18 960
+ 772 + 383 + 218 + 951 + 569 + 228

1,700 834 1,021 1,303 821 1,188

19. 813 2. 46 2 275 2 201 B 169 2* 636
+188  +271  +245  +224  +579  + 302

1,001 917 520 425 /48 938

5 111 . 877 2% 105 2 336 2 781 3 931
+ 762 +238  +529  +748  +795  + 319

873 1,115 634 1,084 1,576 1,250

. 136 % 627 ¥ 221 ¥ 598 B 121 3B/ 742
+935  +332  +163  +423  +732  + 917

1,071 959 384 1,021 853 1,659

. 617 % 117 2 319 4 588
+362  +995  + 356  + 454

979 1,112 675 1,042
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